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I. S5+o6+7+ 1825+ 175=

A) 2015 B) 2016 C) 2017 D) 2018
2. Thesumof 2018 and ? is an even number.
A) 222 B) 223 C) 225 Iy 22}
3. John and Jill have $92 in total. John has three times as much money as Jill. How much money does John
have?
A) $60 B) $63 C) $66 D) $69

4. Tom 1s a basketball lover! On his book, he wrote the phrase “ILOVENBA™ 100 times. What is the 500th
letter he wrote?

A)L B) B C)V D) N
5. An 8 by 25 rectangle has the same area as a rectangle with dimensions
A) 4 by 50 B) 6 by 25 C) 10 by 22 D) 12 by 15

6. What is the positive difference between the sum of the first 100 positive integers and the sum of the next
50 positive integers?

A) 1000 B) 1225 C) 2025 D) 5050

7. You have a ten-foot pole that needs to be cut into ten equal pieces. If it takes ten seconds to make each
cut, how many seconds will the job take?

A) 110 B) 100 ()95 D) 90

8. Amy rounded 2018 to the nearest tens. Ben rounded 2018 to the nearest hundreds. The sum of their two

numbers 1s
A) 4000 B) 4016 C) 4020 D) 4040

9. Which of the following pairs of numbers has the greatest least common multiple?
A) 5.6 B) 6.8 C) 8,12 D) 10,20

10. For every 2 pencils Dan bought, he also bought 5 pens. If he bought 10 pencils, how many pens did he
buy?

A) 25 B) 50 C) 10 Dy13
11. Twenty days after Thursday is
A) Monday B) Tuesday C) Wednesday D) Thursday
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Of the following, _? angle has the least degree-measure.

A) an obtuse B) an acute C) a right D) a straight

Every student in my class shouted out a whole number in turn. The number the first student shouted out
was 1. Then each student after the first shouted out a number that i1s 3 more than the number the previous
student did. Which number below is a possible number shouted out by one of the students?

A) 101 B) 102 C) 103 D) 104

A boy bought a baseball and a bat, paying $1.25 for both items. If the ball cost 25 cents more than the
bat, how much did the ball cost?

A) $1.00 B) $0.75 C) 30.55 D) $0.50

2 hours + ? minutes + 40 seconds = 7600 seconds

A) S B) 6 C) 10 D) 30 i
In the figure on the right, please put digits 1-7 in the seven circles so that the three digits \{r-mﬂdm“ﬂ
in every straight line add up to 12. What 1s the digit in the middle circle? /\/\ \

A) 3 B) 4 Q)5 D) 6 O—0—0

If 5 adults ate 20 apples each and 3 children ate 12 apples in total, what is the average number of apples
that each person ate?

A) 12 B) 14 C) 15 D) 16

What is the perimeter of the figure on the right? Note: All interior angles in the figure 20

are right angles or 270°.

A) 100 B) 110 C) 120 D) 160

Thirty people are waiting in line to buy pizza. There are 10 people in front of Andy.
Susan is the last person in the line. How many people are between Andy and Susan?

A) 18 B) 19 C) 20 D) 21
Thirty-nine hours after 9:00 AM 1s
A) 1:00 AM B) 12:00 PM C) 8:00 PM D) 12:00 AM

200 + 400 + 600 + 800 =(1 +2 +3+4)x 2
A)2 B) 20 C) 200 D) 2000

11...11 (the number consisting of 2016 1’s) 1s not a multiple of

A) 11 B) 111 C) 1111 D) 11111

The average of two thousands and two millions is

A) 10000 B) 1000000 C) 1001000 D) 1111000

A triangle has the same area as a square. If the length of a base of the triangle 1s the same as the
side-length of the square, and the height of the triangle to the base is 4, what is the area of the square?

A) 1/2 B) 2 C) 4 D) 8

When Volta found a field in the shape of an 1sosceles triangle, she was so excited that she
ran a lap around all three sides. Two sides of the field have lengths of 505 m each, and the
third side has a whole-number length. What is the greatest possible distance that Volta
might have run in one lap?

A) 2016 B) 2017 C) 2018 D) 2019
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25 x66=T75%x 7

A) 22 B) 44 C) 16 B33
The number that has an odd number of whole number divisors 1s
A) 15 B) 16 C) 17 D) 18

In a sequence of 8 numbers, the average of the 8 terms 1s 135. If the average of the first three terms 1s 16
and the average of the next two terms is 15, what is the average of the last three terms?

A) 12 B) 13 C) 14 D) 15 purkam
All years between 2000 and 2050 that are divisible by 4 are leap years. No other years ’ '
between 2000 and 2050 are leap years. How many days are there all together in the 17 P i
years from 2010 to 2026? | '
A) 6209 B) 6030 C) 5018 D) 5019

The sum of the hundreds digit and the tens digit of 2357 1s "

A) 5 B) 8 C) 10 D) 12

Which of the expressions below has the greatest value of (quotient x remainder)?

A) 27 + 4 B) 47 + 6 C) 57 + 8 D) 87 + 12

[ have some dimes and nickels, and together these coins are worth $3. If I replace every nickel with a
quarter, I will have $5. How many dimes do I have?

A) 10 B) 15 C) 20 D) 25

[ am a lovely cat. When I multiply the digits of a whole number and the product I get
1s 9, I put that whole number on my list of favorite numbers. Of the whole numbers
from 1000 to 9999, how many would I put on my list of favorite numbers?

AN B) 10 ) 13 D) 20
The sum of the tens digit and the units digit of the sum 1 + 12 + 123 + 1234 + ... + 123456789 is
A) 4 B) 5 )6 D)7

The product of all prime numbers between 1 and 10 1s

A) 210 B) 105 C) 1890 D) none of the above

What is the average of 12, 14, 16, and 187

A) 13 B) 14 C) 15 D) 16

When Jon shouts out a whole number, Al shouts out the product of its digits, Barb shouts out
the product of the digits of the number Al shouted out, and Cy shouts out the product of the

digits of the number Barb shouted out. When Cy shouts out 18, what number might Jon have
shouted out?

A) 789 B) 799 C) 899 D) 999

Each big box contains 3 medium boxes, each medium box contains 2 small boxes, and each

small box contains 5 apples. How many big boxes are necessary for 1200 apples?

A) 30 B) 40 C) 50 D) 60
Eighteen years from now, my age will be 4 more than twice my current age. My age now is
A) 12 B) 14 C) 16 D) 18

Each time Wanda waved her wand, 4 more stars appeared on her dress (which started
with no stars). After several waves, Wanda multiplied the total number of stars then

A) 144 B) 256 C) 364 D) 676
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